Dawson College: Business Mathematics: 201-801-DW

Test 2

Name: SO0L JT76n)S

Student ID:

No books, notes or cell phones are allowed. You must show all your work, the correct answer is worth 1 mark the
remaining marks are given for the work. If you need more space for your answer use the back of the page.

Question 1. (] mark each)
Evaluate the following to two decimal places:
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Question 2. (3 marks) Simplify the following:
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Question 3. (3 marks)

Simplify the following:
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Questlon 4. (4 marks) Franz is a sa]esperson for Tube-Town TV Shop. He receives a commission of 6% on sales up to
$6500, 91 % on the next $5000 and 121 3% on any additional sales during the month. If Franz sold $14 600 last month
what was his gross commission for the month’7
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Question 5. (3 marks) Simplify the following (round your final answer to two decimal places):
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Question 6. (3 marks) Calculate the property taxes on a house in Toronto that has been assessed at 3198 000 if the
mill rate is 19.625.

TZoPer™ TAX = e mams X o onl %K ASS i3 Vi or of Preferry

]

1

(4. 6250 . 000 (Las cos )

= b3%55 .95



Question 7. (3 marks) The list price of an item is reduced by discounts of 8% and 6% resulting in a net price of
$562.12. What is the list price?
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Question 8. (3 markss)
An invoice of $1200 with terms 7/ 15 n/30 E.O.M. was dated September 14. If the i 1nv01ce is paid on October 9th how

much is to be paid?
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Question 9. (4 marks)
The Agrarian bike shop buys helmets from the wholesaler for $54.75 and sells them at a markup of 25% of the sel]mg

price. What is the sellmg price? What is the rate of markup based on cost?
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Question 10. (3 mark) Solve for x: .
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Question lbl. (3 marks)
A’company sells snowboards for $360. If the company wants to markdown the snowboard to a price of $298. What is
the rate of markdown?
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Question 12. (3 marks)
Solve for x: :
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Question 13. (5 marks)
Cumpu-global-tec Computer store buys laptop computers listed at $670 less 15%, 12% and 6%. Expenses are 40%
of the regular selling price and they want to make a profit of 10% of the cost. What is the regular selling price? One
weekend the store decides to have a sale, selling the laptops with a 25% discount. What is the operating loss or profit
realized on the sale of a laptop?
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Question 14. (3 marks) i/ /6 .8 on THe Shees ,
$3560 was invested for 272 days in a simple mterest scheme with an interest rate of 3.5% p.a.. How much interest is
earned in 272 days.
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 Question 15. (3 marks) :
How many months must $1260 be invested in a simple interest scheme at 5% in order to eamn $315 interest.
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Question 16. (3 marks)
What is the future value of $826 over 7 months at 4%%?
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Question 17. (3 marks)
Compute the present value of a debt of $463.08, 125 days before it is due at an interest rate of 8 3% p.a..
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Question 18. (2 marks)
Solve the proportion 2: 3 = x: 41.
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Question 19. (4 marks)
A loan payments Ofﬂ900 was due 3 three weeks ago and another payment off1100 is due 10 weeks from now. What
single payment 4 weeks from now will pay off the two debts is the interest rate is 7% and the agreed focal date is 4

weeks from now? .
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Question 20. (5 marks)
Don buys an big screen TV from Tube-Town TV Shop for $2400 today and agrees to pay for it in 2 equal payments, A;T { a?o

IWT, the first payment is to be made in 5 months and the second payment is to be made in 10 months. What is the size of
the equal payments given that the focal date is today? '
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